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QUESTION 1

A customer has configured a replication policy of a mirror-vault type to replicate data between a volume in their ONTAP
cluster and Cloud Volumes ONTAP instance. They have configured the relationship between the source and the
destination volumes and also set up a replication schedule. However, the replication falls.

In this scenario, what caused this problem?

A. Snapshot copies cannot be used for a SnapVault replication.

B. A custom schedule is not supported.

C. The time difference between the ONTAP cluster and the Cloud Volumes ONTAP Instance Is more than five minutes.

D. The labels for the source volume Snapshot copies do not match the label in the SnapVault policy.

Correct Answer: D

QUESTION 2

Which storage protocol is supported by Azure NetApp Files?
A.iSCSI

B. NVMe

C. FC SAN

D. NFS v3

Correct Answer: A

QUESTION 3

You are building a Cloud Volumes ONTAP HA for AWS system to support a high performance OLTP database.
In this scenario, which two AWS disk types would you use? (Choose two.)

A. Provisioned IOPS SSD (iol)

B. General Purpose SSD (gp2)

C. Cold HDD (scl)

D. Throughput Optimized HDD (st1)

Correct Answer: AB

QUESTION 4
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You have a single node Cloud Volumes ONTAP instance in AWS. You are required to have high availability for the data
with no data loss across availability zones.

In this scenario, which two actions are required to accomplish this task? (Choose two.)
A. Create a new HA pair.

B. Tier the data to S3.

C. Mirror the data.

D. Add a second node to the cluster.

Correct Answer: C

QUESTION 5

When configuring adaptive QoS, which two statements are true? (Choose two.)

A. A storage object can be a member of an adaptive policy group or a non-adaptive policy group, but not both.
B. Adaptive QoS policy groups are always not shared.

C. Adaptive QoS policy groups are always shared.

D. The ratio of throughput limits to storage object size is determined exclusively by setting expected-iops.

Correct Answer: CD

QUESTION 6

You are trying to deploy an OnCommand Cloud Manager from the marketplace to your Azure resource group, but the
deployment fails.

In this situation, what caused this problem?

A. A subnet in your Azure resource group is not connected to your local company network.

B. A virtual machine in your Azure resource group on which to deploy Cloud Manager has not been created.
C. A custom role with the proper permissions has not been created.

D. An express route between your local network and Azure has a firewall rule that is set to deny.

Correct Answer: CD

QUESTION 7

Click the Exhibit button.
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You are provisioning Cloud Volumes ONTAP In AWS with OnCommand Cloud Manager. Referring to the exhibit, which
technology Is encrypting the data at rest?

A. AES-NI
B. NSE
C. KMS
D. NVE

Correct Answer: C

QUESTION 8

Click the Exhibit button.

Your Cloud Volumes Service export is mounted on a Red Hat Enterprise Linux instance. You can view a top-level
directory listing, but you cannot create files.

Referring to the exhibit, what Is the IP address of your Red Hat Enterprise Linux instance?

A.10.0.1.0
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B. 10.0.1.6
C. 10.0.0.0
D. 10.0.2.6

Correct Answer: A

QUESTION 9

Click the Exhibit button.

You have a Cloud Volumes ONTAP HA pair that is provisioned in multiple availability zones. All components of the
ONTAP cluster are eligible for update.

In this scenario, which two actions are performed during the upgrade when you use the default update options?
(Choose two.)

A. The Snap Mirror transfers continue during the upgrade process
B. The HA mediator is updated.

C. The software image is pushed using HTTP.

D. The HA pairs serve data during the upgrade process.

Correct Answer: CD
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QUESTION 10
You have an NFS export in Cloud Volumes Service, but have an application requirement for block accessand SCSI-2
reservations. You need to migrate the data to a new iSCSI LUN presented to a Linux server from Cloud Volumes
ONTAP. The Linux server Is also running an NFS server.
In this scenario, which tool would you use to perform this task?
A. Cloud Sync
B. SnapMirror
C. Robocopy

D. CloudMilrror

Correct Answer: A

NS0-302 VCE Dumps NS0-302 Exam Questions NS0-302 Braindumps

NSO0-302 VCE Dumps | NS0-302 Exam Questions | NS0-302 Braindumps 6/6


https://www.certbus.com/ns0-302.html
https://www.certbus.com/ns0-302.html
https://www.certbus.com/ns0-302.html
http://www.tcpdf.org
https://www.certbus.com/ns0-302.html
https://www.certbus.com/ns0-302.html
https://www.certbus.com/ns0-302.html

